1. db)9) 9 uwl)fﬁS OYlso U.oa.oax)ii:b IS..,.L: 9w
lg..d.) dlaos ¢ | We Resp e 1| he Science
e CIVILICALT:osni (O CIVILICA

tdldo (ylgic
(8 yod (5390 a2llao) (t-test) (gl wgas S (5 (ygajl I eslaiul b b5 2 SagyiSUl 1o Yigo (sloyiahly (lwlics

:)Li’».‘i.’:l‘ho

(1395 Jlw) (1295 (5 wopeid 9 ()lemocs)2) 4obp gldlyea Lo uihaiS (aeg
10 :dlie Jool wlxbio slass

2005y g)

:d)lio duoS
oolwly ilizxe (c3lgs (gow jl 63id L)l (gl Jo oly Bdac .39 (50 55 puSiun jo)y y S8l ddgydg5 slaws (inliél b olpl 5>
G i )8 il )Sa5 &8lg )> a5 SwigyiSUl Hoi .l ABIN ) )> (glke ZlD g 6l plevl dbgiye (Hlojlw Bladl (el
bl g ©ledbl (6)9L8 I (g3i0 0y b )9S (5)laun -3 (54 ©USn (§985uly (295 ) wianiils oS Cawsl Bl bl
Liwly ol )> - 3boyy pladl 4 CodsS Gayige L g 4jo 9 oloj 0)ieS )3 1) UingS 19,0 0)0)9) H9al I (5)lmn 31 diunilgs
9 Wbl (50 G (Sa095 GaliS i) -caml di)S plail SdlS oIS (g9) y2 SwigyiSUl i Il (L)l Bao b pSl> G
5 090)1 jl eslaiuol b dolisiunyy 1 630l Cawd @) (5l 631> .l 4i8)S W)yg0 (S313a0 g (gl BLBVLS Whygw 4 Wlelbl (g9l gax
9 JAUT pluolido)l5 I ;@925 b SgyiSIl yeid (sh2l pas @lo 2)5 ege L 9 SPSS 5yl 1381 )5 )5 (t-test) (gl asgas S5
W30 (RO 3 5l SublyS 51 SISl o g0 HaSLD (1) pee 45 3B (50 LIS B30T Cawd &) S - 303)F 39T (led A
Ghadl Gapd b B3 b (50 Gl Cud (g0 o SISk @ Lo pEelS ez g 381 > gy puyinl G yaw (gl
L S8l jSp0 Koo Ginliél 9 y9ol) Juwy (] 03l ol 9 Capiol Gilidl @l Pl o)l glo aoje el do ol
> g 38 S0y s Sl )3 g0 Blge ()5 eee pize ABL o (9 LIS YIST (uilygl «(g)l0yed) L HB)) jal

Al (50 Guwliw § (i) (glaiBl (i «(bjgel (Siapte pasl 1Bl (5o 2y KRN ) @ ol

gl wlals

HSasgaw S5HL 5 dlis b S
https://civilica.com/doc/609277



https://civilica.com/doc/609277

